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1/3R=2

(&5 &8
Z2mEN) MARSINE (N)
N % o= 4 B B rae BERGMN S i = i 8
= 12 50 3,600/ 28 52 80 282 490 772 69.4
1 WEWEREEA) 7% 12 50 3,600 26 51 77 248 437 685  69.8
R 9 50 2,700 26 51 77 202 373 575 69.8
= 12 50 3,600 24 41 65 236 388 624 71.6
2 WEWEER(K) o 12 50 3,600 24 46 70 237 394 631  71.1
23 10 50 3,000 27 46 73 234 347 581 71.3
= 12 100 3,600M 11 34 45 108 322 430 69.1
3 (FUHTDOXRIBE 0 12 100 3,600 10 34 44 105 327 432 66.6
=S 10 100 3,000 11 29 40 100 227 327 68.0
4 2 43t AiGEs BIEA 18 100 5,400 16 79 95 240 1070 1,310  70.0
%8 18 100 5,400/ 13 74 87 163 987 1,150 69.6
= 12 100 4,800 7 83 90 74 762 836 62.8
5 EpslGaT)) w 12 100 4,800 6 87 93 64 764 828 63.1
23 10 100 4,000 7 76 83 57 633 690 64.8
= 12 100 4,800 10 96 106 102 909 1,011 62.6
6 I (F&) I 12 100 4,800/ 8 95 103 85 924 1,009 63.4
R 10 100 4,000 8 81 89 75 677 752  64.0
= 12 100 4,800/ 6 97 103 45 836 881 44.8
7 =pal¢:d) w 12 100 4,800 5 91 96 41 780 821 44.5
73 10 100 4,000 6 81 87 34 563 597  43.9
& 12 100 4,800 3 84 87 28 817 845 60.9
8 T r7OEDX(FH) w 12 100 4,800/ 6 84 90 52 792 844 60.8
= 10 100 4,000 7 88 95 53 695 748 60.4
& 12 100 4,800M 4 48 52 40 445 485 51.9
9 I F7OEOX(R) w 12 100 4,800M 3 39 42 28 318 346 52.2
& 10 100 4,000 1 32 33 8 227 235 53.7
= 12 100 4,800/ 0 42 42 0 421 421 53.3
10 INL B> (5FRT) K 12 100 4,800 1 44 45 3 428 431 55.4
£ 10 100 4,000 0 49 49 0 414 414 52.4
& 12 100 4,800/ 0 40 40 0 358 358  46.7
11 AL b2 (&) w 12 100 4,800M 0 45 45 0 387 387 48.8
& 10 100 4,000 0 41 41 0 332 332 48.3
AA 4,800 1 7 8 11 71 82 36.5
& 12 50 &% 3,000 2 13 15 24 144 168 9.0
i b w Sy AA 4,800 1 6 7 12 60 72 35.9
I 12 50 <c &% 3,000 2 7 9 20 63 83 7.7
AA 4,800 1 6 7 10 55 65 34.1
£ 12 50 < &% 3,000 2 9 11 19 78 97 8.7
= 12 35 2,400 10 20 30 70 175 245 5.5
13 FywXHR N 12 35 2,400/ 9 14 23 51 125 176 5.4
& 10 35 2,000 4 7 11 31 62 93 5.0
= 9 20 3,600M 2 16 18 9 119 128 55.5
7 Sabdm YAGIYE N
14 = 830(4F8T) " 9 20 3,600M 2 22 24 11 146 157  54.1
£ 7 20 2,800 1 17 18 1 99 100 52.4
& 12 60 4,800M 9 49 58 83 492 575  49.6
RFT I\
15 = 7830(%) w 12 60 4,800 5 44 49 42 400 442 48.2
& 10 60 4,000 8 38 46 61 311 372 47.1
16 VAN D= & 10 20 7,000/ 5 6 11 45 52 97 62.6
17 £k 73 10 20 6,000/ 0 0 0 0 0 0 -
= 10 25 5,000M 0 22 22 0 187 187 58.5
_ =2 10 25 5,000M 0 24 24 0 187 187 59.4
18 SR 1
o 10 25 5,000/ 0 23 23 0 164 164 58.3
£ 10 25 5,000 0 21 21 0 167 167 57.2
& 10 25 5,000/ 0 23 23 0 204 204 60.5
e =2 10 25 5,000M 0 25 25 0 184 184 59.4
19 ES7a1X 2
w 10 25 5,000M 0 25 25 0 190 190 58.7
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£ 10 25 5,000M 0 21 21 0 174 174  58.9
& 10 15 5,000M 0 14 14 0 128 128  61.0
o =2 10 15 5,000M 0 17 17 0 151 151 60.7
20 J55>X 1
W 10 15 5,000M 0 17 17 0 140 140 61.6
£ 10 15 5,000/ 0 19 19 0 180 180 64.3
= 10 15 5,000 0 13 13 0 94 94  60.1
. E 10 15 5,000M 0 15 15 0 122 122 60.0
21 IS5 2
w 10 15 5,000M 0 18 18 0 139 139 61.6
23 10 15 5,000M 0 14 14 0 99 99  62.1
= 10 25 5,000/ 1 19 20 7 150 157 51.2
X B 10 25 5,000 2 18 20 11 137 148 49.9
22 JL—>—Fwhk> 1
N 10 25 5,000 2 24 26 13 183 196 49.3
z 10 25 5,000 2 20 22 11 148 159 53.2
= 10 25 5,000 0 20 20 0 146 146  46.0
N B 10 25 5,000/ 0 21 21 0 161 161  44.3
23 IJIL—>—Hwv k> 2
w 10 25 5,000/ 0 24 24 0 165 165 44.6
P 10 25 5,000 0 19 19 0 126 126 46.3
& 10 20 5,000 1 13 14 5 97 102 67.9
04 HEED B 10 20 5,000/ 2 12 14 2 68 70 67.7
SrAO0+Fx>R W 10 20 5,000 0 11 11 0 75 75 67.1
= 10 20 5,000 0 7 7 0 52 52 68.7
= 5 1548 2,500/ 0 13 13 0 19 19  33.2
25 BN 5 0 10 10 3 3
. N 154# 2,500 0 2 2 -
DREHOIS 1 s >l 5007
& 5 1548 2,500 0 14 14 0 39 39 -
& 5 1548 2,500/ 0 14 14 0 20 20 32.5
08 EENYY 5 » »
. % 154 0 8 8 -
DREHDIS 2 w . 548 2,500/
£ 1548 2,500/ 0 14 14 0 43 43 -
97 50>C N 2 0 11 11 0 11 11 -
bii{ONO ST =3 3 =\ 1[5 300/ 1 19 20 1 19 20 -
= 4 0 24 24 0 -
08 OZRwiR = " 24 24
e A 0 51 51 0 51 51 -
HFDOE
= 3 BU 18 300/ 2 50 52 2 50 52 -
29 RXTJ)URBRLwWR> 1 100 300/ 3 80 83 3 80 83 28.8
30 HRITAEKAZ 21 —1ERR &E&E R 33 54 87 33 54 87  59.0
INEFOD 417 3,116 3,533 3,532 24,764 28,296
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[7=23—K)
ZmEN) BARSInE(N)
(F 1<) T
_No._ B E £ B EE zaw BRSIE) B Z g B Z g #®
30 [FUHTDTR & 7 20 7,000/ 8 11 19 38 59 97  49.6
EEI—X(EH) B 7 20 7,000/ 11 9 20 50 54 104  54.7
31 FUHTDT=R &= 7 20 7,000/ 9 10 19 52 57 109  46.0
TEI-X(EN) I 7 20 7,000/ 8 11 19 46 54 100 42.1
o 8,000 0 0 0 0 0 0 -
39 BHF7=X = 7 108  (—A4,000M)
£BEI1—X(B4) 8,000/
0 0 0 0 0 0 -
i 7 104  (—A4,000M)
8,000 4 . 9 2 21 43 43.1
33 BFTX = 7 1048  (—A4,000M) '
TEEO—X (B 8,000/
9 12 21 47 71 118  44.4
N 7 104  (—A4,000M)
FCHTD
34 _ & 10 20 10,000 9 8 17 79 65 144  51.4
FZA(BM)
INET (D 58 66 124 334 381 715
(BERT—IL]
smEN) BARSIE (N)
(F 5 T
No._ B E 4 # B eaw BREGSHE) ] E2§ g E: = B i
H 12 7,200M 0 72 72 0 722 722 66.5
35 THEEDESHDAKK (N) 12 7,200/ 0 71 71 0 668 668  66.7
£ 10 60 6,000/ 0 62 62 0 545 545  67.8
T H 12 7,200/ 0 70 70 0 707 707  66.8
35 TEDEHDKK (&) 12 7,200/ 0 66 66 0 645 645  66.8
£ 10 60 6,000/ 0 68 68 0 572 572 66.3
- 3,600
& 1 - 2 6 8 18 50 68 68.3
DLBEAK(FI 3/000%
43 IDBEIKK(F1E) h 1 BRI T 0 7 7 0 40 40 60.3
3,000/
£ 10 10 BIBABHLE 0 0 0 0 0 0 ;
- 3,600
= 1 - 4 2 6 42 17 59 55.8
S EAGK(TR 3,600
44 MLBEKK(R) w12 Rl A HLE 0 0 0 0 0 0 :
3,000
2 10 10 BIBRABRLE 0 0 0 0 0 0 ;
i &5 12 7,200/ 5 64 69 56 625 681  65.2
45 7T LITIAX K 12 7,200/ 6 76 82 57 670 727  63.5
(AEHOI—X) ' ’
£ 10 100 6,000/ 5 56 61 34 463 497  65.8
o i H 12 7,200 8 45 53 74 371 445  58.6
46 FITLITIIAX TN = 7 44 51 52 284 336 57.1
N 10 6,000 .
(XEHO—X)
£ 7 100 4,200/ 9 41 50 56 220 276  56.2
T H 12 6,000/ 5 45 50 52 454 506  72.9
47 J—)ld e fiEER K 12 6,000/ 6 46 52 52 416 468  72.6
£ 10 100 5,000/ 5 43 48 38 354 392 72.1
48 sU0->ZoO0-IL = 3,000 0 0 0 0 0 0 -
10 15 BEA BRI NE
INETD 62 884 946 531 7,823 8,354
smEN) BARSINE(N)
E: £°§ 5 E: £y i
S5 (D+2+Q) 537 4,066 4,603 4,397 32,968 37,365
[A K]
No._ AR ZHEME) AL A#
1 YR TIRFAINUL (KR) 15—13,0008 Fv XEFY VNFEUT) 8F—L40% =7EFH(FZELELUT) 9F—1L45%
H2ZX TTRF4/)UL (D—023v) 1,000 124
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